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431 00000
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0000000000000 4000000000000 ATMOOOOODOOOATM 0000
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000000 ATMOODOO 200 2400000000000000300000000000
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0000000000000000010000000000000 QTCO0O000 300000
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D0 0DoDO0DO0000000000000000000000000000000000
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00000000000000000000000000000000000000000TDC
00000 1000000 30000000 3000000000000000000TDCO
0030000000000000000000000TDCO 2400000000000000
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TDCO 4000000000
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3. (0000000)—-(000000D0)0000O00O0ODQETCOOOODOODOO
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0000000000000 000000000D0000000O0000000 ADOO
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TKOOOODOOODOODODDODOOO SCHOOODOOOoooooooooooo TKROoooooo
0000000 00oo0oooOTbCOODODOOOOODDOOOOOO SICoUooOoooooo
DSMOODOOOUOO0O0OO0O0O0OO0OOO0OO000O0O0OO0OOOOO0OooooooooSICOooOogon
00000000000000000000 1 MByteOOO FIFO*2 00000010000
00000000000 ATMOOOO 6Byte000000 1.7x10°00000000000
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e QICOOOOOO --- 5.2

e TDCODOOO --- 4.34

e FPGADODOOOODDODDDOD 1000000000 --- 435
e 000 TKOODOODODODOOODOODOOO --- 44

432 0O0O0O0OO
gbobooboooboobboobboobobooobuoooboobbooboooboon
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*13 Pirst In First Out 0000000000000 000000000000000000000000000000
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OO00oO0o0obood0o 2000000000
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RJ45 LED LEMO RJ45 RJ45 16pin Flat 50pin Flat
*Serial IF *TRG *GATE| | “HITSUM *Clk In | *Eventl | *Clk Out *Hit0
Cal *PMTSUM *Reset | *Event2 | HITSUMO .
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Extension
Board DHS
DSM DSM " DSM} FPGA
] O ToC
are

I [ I o IR ) N

Ch12~23

A-BUS
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000 FPGAOODOOODOOOOODOODOODOOODOODO0O0O0O0 HITOOO 50000000
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43.4 AMT (ATLAS Muon TDC)

AMT OOO0OO0O0O0O0OO0O000O000O0O00 ATLASOODOO0OO0OOoOOoOoOoooooo TDC
Oo0oooobooooboo 4100bboOoboboooo

041 AMTOOOOO

googod
goobogo

goboooobgo

goooooog

goooooobdad

0.5208 nsec/Count (60 MHz 0O OO0OO0O)
0.150 nsec (RMS)

17 bit (13 bit coarse counter & 4bit fine counter)
2400000

10 ~ 70 MHz

000D < 80 psec (integral & differential)
0ooO <15mW/00000 (< 360 mW /chip)
gooooon LVDS

oooo 33+£03V

ooogog 0.3 um CMOS

ooood 144 pin QFP

2 22 RSASAR AR,

\\\7zzz

Z
Z
Z
4
=
B
S
N

NN

N

0 4.7 AMT (ATLAS Muon TDC)

ATLASOODOOOO0 TDCO 40MHzOOODOODOOOOOODOOODODOODODODOOOOODOOOOO
000000 60MHzOODOOOOOOOODDOODOOOO10000000 520.8 psec 00O
OO0O0ORMS OO 520.8/\/@2150[psec]DDDDDDDDDDDDDDDDDDDDDDDD
0000000000000 00 QTICO000U00D00D0DoDoDooooooooO AMTOOOO
00000QTCOOOD0OODDODO AMTOOOODODOOODODODDOO0OO0OO0O0O0O00O 60 MHz
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00000000000000000000000000 10% 00 43.6V0O0000000O0O
Oo0o0ooboOonD 5410000000

AMTOOOO [(B]0000000O0O0O0O00DOO00O0OO0OO0OO0OOOODOOOOO0OOOOOO
gbobogboooooog

s AMTOOOOODODODOO0OD AMTOOOOO0OO0O0O0DODO 60MHzOOOOO PLL*40 2
OO0 120 MHz OOOOOOODOO 120MHzOOOODOODO le000O0ODOCDOODOO
oooobobooo0o sO00O00bO0ob0bOO0DOOObOO0ODOObDODOODObOOODObODbDOoDO
o000 3200000000000 00O00DODODOOU0OODOODODOOOODODODOn
60 [MHz] x32=1.92 [GHz) 000000000 0AMT OO 0.52 nsec/Count 000000
gboogooobogoo

2 0000000000O0DOO0O000000O0O0ODODODODDODDODDODDOOOODODODDO0OOD
000000000000 0000D0O00 60MHzOOODODODOODODOOOOOOODOO 16.7
nsec HOOOOODODODOOOOOO0OOLOODOOOOOOOOOODOOOOOoOoOooODLDbObOObOOOO
gboooobogoo

s AMTOOOOOOOOOO AMTOOOOOOOO0O0O0O0OO0OO0OO0O0O0OOOOOOOOOO0O0
oooboobooobooboboobobo0oboooboooboobboooboooboooo
0000000000000 0000000000000AMTOOO00O0O0ODOOOOOO0O00
goboooboogoooooog

1. Channel Buffer
gbogodoooobobobobuoooooobuobobooooboobobobon
Channel Buffer 000 000000OCO Channel Buffer 00 4000000000000
0000000000000 0000000000000000000000 L1 Buffer O
gogooooon

000000000000 00000000000000 Channel Buffer 000000
00000000000 0000D00O5nsec00000 5nsec00000O0O00O0OO0O
OAMT O 400000000000000000O00D00D0O0OO0ODO0OOOOOO0
dodoooooooboboboboboooo

2. L1 (Level 1) Buffer
Channel Buffer 00 0000000000000 0O0OD0DO0OOOO0OOOO0ODOOOOOOLL
Buffer 00000000 0O0OOCOOO0OL1I Buffer000256 00000000000000
OO00000C0COL1I Buffer 000000000000 O0OOODOODOODOODOOOO
0000000000000 0000000000000000O0O00000

3. Trigger FIFO

*14 Phase Locked Loop 0000 OD0OO000OO0D0OOONOOOONOONCOOOOODOONOOODOOOOOOOOOON
oooooooooooboooooooooo
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0000000000000 0000DUOoO0ooOoDooooon Trigger FIFO OO0
O0O0OOTrigger FIFO OO 8000000000000 OCO0OOO0OOOOOOOOO
0oooooooooooobobobobobboboboodddoooooooooooooo
O0000000000000000 L1 Buffer 0000 0O0OO0OReadout FIFO OO0
goagd

4. Readout FIFO
LilBuffer 000000000000 OO0OOOOOOO Readout FIFO OOOOODOOO
0000 0000000000000 00DO00DO00DO00DO0O0DOOO0DbOO0DOd
ggd
Readout FIFO 0000000000 0DO0DOODOODOODODOOOOOOOOOOOO
oooooooooboboboboboboboooooooa

e Readout FIFO OO O0OUOOO0OOOOOODOOOODOOOODO(@MOUOOOO
0oo)

e Readout FIFOOOOOOOO L1 Buffer 00 0000000000000 OOOOO
godododbboodoobboobooboboobboooboooboooboooono
gooooooon

e Readout FIFO 0 0000000000000 00O00O00O00OO0O0OO0OOOO0OO
god

d00U0U0UooooooooU0UouooooD AMTODODOOCOOOOOOODOOOOOOOO
ygodoooooobobbbbobooobobbobbtboddddoooooooon b
00ooooooooobobobobobobobobbobbooddddooooooooooo oo
doodooooooobobobobobobobobbobobbdddddoooooooooo oo
d00d00o0o0dU00oo0oU0oo0U0ooUoU0UbDoU0 100 AMTOOOOOOOO
O00O00ooooooooooooAMTOOODOOOO0OO0OO0OO0OOOOOOOO00
0000000000000 0000000d0AMT O 1000000000000 0O0O0O
gdooooooooon

0000 AMTOOOOOO0O0O0O0O000000 4204.30440000000000000 1
O000000000oo0ooo0o0o0o000oooooooo0000ooooooooooOoOooo
0000000000000AMTOOO0O000000O0 120000000000000000
0 “Coarse Time” 0 120000 “Fine Time” 0 500000000 170000000

O00DAMT OO0OO00000000000000000000000000000000000
O0000000oooooooooO0oooooDooooogo
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AMT OOOOOO0O0OO

0 4.2 Single Measurement Data (0000000000O)

31130 |29 |28 27-24 23-19 18 17 16-5 4-0
010 1 1 | TDC ID Ch | Edge | Error | Coarse Time | Fine Time

0 4.3 TDC header (Bucnh ID 0000000000 Coarse Time (60MHz) DO O0OO)

31130129 | 28 27-24 23-12 11-0
1 0 1 0 | TDC ID | Event ID | Bunch ID

0 4.4 TDC trailer (Word count 00 TDC OOOUOOOD 10000000000O)

31130129 | 28 27-24 23-12 11-0
1 1 0 0 | TDCID | Event ID | Word Count

s AMTOOOOOOODOOOOOOO 0000 AMTOOOOOOOOOOOOOOOOOOO
OwusecOODODOOODOOOODOODDOO
go0ooOo0obooUdoob0 3gobouobooooouoobooo

e coarse counter
e bunch counter

e reject counter

ddddd0d0d0od0odddooooooo 480000000 DODODODOOO0OOODDODOO
000000000000 O0O000DOO00D0DOO000O0DOO 12000000000000000
000000000 60 MHzOOODOODOO

Udbooobuo0bobd0obb0oubbbO0o0bOd coarse counter OO0 OOOO
00000000000 0000000b0000Do0DO00oDoDoOoOdOgnO coarse counter O 0O 0O
bunch_count offset 00 0000000000000 DOOOOOO0ODODODOOOObunch counter
0000000000000 00000000 bunchcounter 00000000000 ODOOOO
000 (Bunch IDOD0DO00)0000

AMT OOOOO0O0OOODO0OO0OO0O00O00O0000O00000D0000O0O0DOO0OO match-
ingwindow D0 000000000 00OOCOO0OOO00O0OOO0ODOOOO L1Buffer0000O0OnO
O00000Readout FIFOOODODOOOOOODOOO

00000000000000000000000000000000AMTOOOO0O0O0O0O0
000000000000 00o000oo0000oo0oooooo0ocAMTOOOOOOOOO
O 1pusec0 00000000000 OOOODODOObunch_count_offset 0 mathching window O
0000 0usecO0ODODOOOOOOOODOOODODODODODODO 15 wsec 0000 matching window
0000000000000 00o000o000o0U00D000ooOooDATMO0O0D0OO00O0O0O
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go0ooO0oOoOdOooooooOobooouooboogo

000000000000 (12000)0000 (60MHzODUODOODOOOODO O 70 psec ) O
0000000000000 0000 Ll Buffer 0000000000000 0D0OOOOOOO
0000000000000 bOoboUoobDbOOoobOob0obUOboDbOUOreject counter DO OO
0000000 coarse counter 0 00O reject_countoffset 0000000000000 OOOO
000000000L1 Buffer 00000000000 000D0O0ODOODOODOOO reject counter
O00o0o0oooOoooooooooooooooobOoOoooOooooooooooooOoon
reject_count offset 00 0000000000000 OO0O00ODOOOOOOOOOOOOOOO
gooooooooooooooOobooOoUoboOobOo00DoobbO00oDoOboboOooooo
000 Oreject_count_offset 000 30 sec 0 1 pusec 000000000000 ODODOOOODO
ood

0000000000000 000000000000000000 30 usec 00 AMT OO
gooooooooooooobooobooooboOoboo0obDoobbo0obDooboboOooooo
0000000000000 000000000000D00O00000000DoOoOOoOOAMT
gO0doo0doOoOdO0ooO0o0oOoO0OoO00oDOoO0bOO00oDoOobOoOO0O0ooDoooogoooog
oooo

triager ~15usec delay
'9ge TDC

generated

trigger in
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reject
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Sl §§ 1oy e

bunch_count_offset (~30usec) |

NE

reject

1
1

reject_count_offset

- >
i matching_window (~30usec) |

048 AMTOOOOOOOOOOOOOOmatching window 00000 0OOO Readout
FIFOOOOOUOOOOOreject counter 00000000000 OOO L1 Buffer 000
gooboooooood

s AMTOOOOO AMTOOODOOOOOOO AMTOOOOOOOOOOODOOD
AMTOOUOOUOOUODOOD [13]000 45000000000000AMTOOO0OO0OOO
00 400 kHzOOODODODODODOODODAMTOOOOOOOOOODO0OO0O0O0O0OOOOOOO 100
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O0000AMT OO0O0O0O0O0000000000000000000000000000000
000000000000AMTOOODOODOODOO0OO0OO 200kHzO000000000000O
gooooboobobooobooooo

O00000DAMT OO0OO0O0O00000000000000000000000000000

045 AMTOOOOO

00000000000000000 400 kHz/ch
20 MHz (1000000000)
0000000000000000000000 | 200 kHz

435 000000000
O000O0QTCO ThCOOOODOOODDODOODODODOOOOoOoOoooooD ATMOOGOGOooo
goboobooobooooboonoo

mJ0000 000000 ATMOO 100000000000 460000000 ATM O
gooobooboooboboobobooooobbbbbobbobobobbbbbobbobobobboon
TODCOODODODOODOOO 200000000000000000 ATMOODO 6ByteO0O000O0O

046 0 ATMO IHITOOODOODOODOOOODOOO ATMOOO 6Byte0000(ED
Event #0000 1 0000TDC O TDC Count 000 2000000 ORange O QTC
0000000000000000000000)

1514 131211 10]09 08|07 ]06|05]04]03]02]01]00
Ch # (5bit) Event # (12 — 1 )bit

E TDC Count (17 — 2)bit

TDC | Range | QTC (10 bit) oo

mFPGAOOOOOOO TDCOOO AMTOODOOOOOOOOOOOOOOOOOOOO
gdodooooooooooboboobbbbbbbbbbbbobbbbbbbbbobbobobon
0000000000 0O0OO0DOD30wsecdO 00000 ODODODODOOODOOOODOD
gooooboooboobboobbooboooboooboboobboooboooboooboo
OO000000O0O00DOOo0bOO00oDOOOb0OO0oU0DbDOoOOooO1l0MevOOODDOOODOOO
gbbooobogoboobboobbooboooobuoobbooboooboooboobn
ooobooboooboobobooboboobooobo0ooboobboobooobooboo
gooooboooboooboboobboobboooog
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1. Wide/Narrow
2. Pedestal

3. Split L

QTC

—_—

FPGA : DSM _ serial trigger

3 3

049 000O0OO0OOOOO TDCO 300000000000 OUUOODUOODODOOOOO
goooobooboboobooobobobobooooon

0000000000000 0000000000000000000O0D000o0oo0o0o0o0o
O00oooTbCOOODOUOOUODOUOOUODOU0OOUOUOoUODOoUOoUOoUOoUTDCOOOO
000000000 30usecO00O0O0OO0OOOOODODOOOOOOOOOODOOOODOO
TDCOOODOODODODO0OODDD FPGA (DSM) D0D00D0O00O0D0OO0DOOOO Wide Window
Trigger 0 Narrow Window Trigger 000 2 000000000000 0O0O0O0OONarrow
Window Trigger 00 0000000000000 0OD0O0O0O0OO0ODOO0OOODOOQO Master
Clock Module 000 0000000000000 ATMOOOOOOOODOOOO

O0000000000oooo0oooooooooon

e Wide Window Trigger (O 4.10)

1. Master Clock Module 0 Wide Window Trigger 00000000 15usec 0000
O000000oooooooooo0ooO0o00oooooooooooO ATM OO
oooooo

2. FPGAOOOODOOOOOOODOOOOTDCOOODODOOODOOOOOOOOOOOO
000000 ThCUOOUOUOODOODOODOOOOOOOOooOooo (O 4.9)0

3. 0000FPGA O TDCOOODODOOODOOOODOOOOO

4. 00000000000000000O0O00ODODO0OO00O0O0OODOOO0OOOOOOO
OO0 ThbCOOoOoOoooooo

5. Wide Window Trigger 0 0 0000000000000 O0DOOOOOOODOOOODO

e Narrow Window Trigger (O 4.11)

1. Narrow Window Trigger 00000000000 OOO TDCOOODOOOOODO
0000000000000 00D0000000DOO00OO0Master Clock Module O
Narrow Window Trigger 000 0000000000000 0OOOOOOOOOO
ooo

2. FPGAOOODOOODODOUODOODODOOOFPGA D TDCOODDODOOOOOOOO
0 0 (Wide Window Trigger 0 Narrow Window Trigger 00 0000000000
000000000 ThCoOUOOOOoOooOooOoooooooon)
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3. ThCOU0000000D0O00ONDOdWide Window Trigger 0000 OO0 OO
0000000000000 0000000FPGA O0ODO 411000000000
00000000000 b00b00 13pusec000000OD0ODOODOOOODOOO

000000 Split Trigger O Pedestal Trigger 00000000 OO O Pedestal Trigger O O
0000000000000 0000O0ODO0OO0O0O0OO0O00O0O0OUSplit Trigger 0O0OO0OO0ODO
000000000oO000o0o0oO0o0oOoO0oooO0oUoO0o0ooO0D ATMO FPGAOOOO
000000ooo0o00o00ooooo0o00ooooooOo0OO0o0o0oooooOooOoooOooo
00000 ATMOOOOOOOOO0OOOOoOOooooTbCOOOOOOOOOoDOoOooooo
0000000oOoooooTbCOOO0O0OoOoOoOoOoOOOOOoOoOooOoUoUoOOooooooo
oooooon

Matching Window 30usec

A
\4

—
Number
A Of
Hits

iy

7/ 7 7 m

i
A >  time

Trigger TDC Trigger
Generated Input

0 4.10 Wide Window Trigger 00000000 O0O0OOODO TDCOOOOOODOO
gbobooooobobon

m FPGAOOOOO 000000 43.10000000000000000 FPGAOOOOO
00000000000 FPGAODOODODOODODOOOOOOOOOOOOOOODOOOOOOO
oooon

00001000000 ATMODDOOOOOO0O00 10000000000000TDC O
O000ooOoooooooSICO0000oooooo0oooooooo0ooooooo 1.8
pusec 000 0000000000000 O0 FPGAOUOO 500kHz 0000000000000
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matching window 30usec

1.3usec
Number
A of
Hits
7. 1DC Trigger
_ Input
]
/R 7 0O O+ ime
rejected by FPGA 1
Trigger
Generated

0 4.11 Narrow Window Trigger 0000000000000 00O0TDCOOOOOOO
000 1.3usec0000000 FPGAOOOOOOOOOO

googo

s ATMOOODOOO0O0OO0O0OO0 00000000000 ATMOOOOOOOOOOoOOoOooOOo
gboobogoo
04700 ATMOOO0O0OOO0OODOOOOOOOO0O0O0OO0OO0OODOOOOOOOOOOOo
0000000000000 10kHzODODOODOOOOOOOOOODOODODOOOOOODOOO
00000 ATMOOOOOOO0OO0O0000000000000000000000
00000000ooooD 10kHzO0OOODODODOOOODOOOOoOoOoOooooooOoOoOooo
goobooboooboooo

047 ATMOOOOOOOOOO

QTC 2 MHz/ch
AMT  ~ 200 kHz/ch
FPGA ~ 500 kHz/ch
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3 QAC-A
% to ADC
START/STOP TACE TAC-B
CLEAR
GATE OACB QACB

DELAY

THRESHOLD

GATE

TRIGGER

PED_START

000 A1 ATMOOOOOOO

000 A1D ATMOOOODOODOOOODOOOOODOOOOOOOO0OOOOO0OO0O0OO0
00000000000000000000 IC[15)00000 ICO0OoUoooIcooooo
coooooooboo 400000000000 0O0O0DOODOOODOOODOOODOODDO?
00 QAC(D0D0D0DO0OO0DLOO0oOO)oPMTSUMOOOOOOOODOOODOOO

0000000000000000000 1000000000000000000 ATM OO
goooooodobD 40mVOOOOOOOOOOODOUOOOOUODOODOOOOODOODODOO
000000000000HITOODODODDODODDODDODODOOO0ODO HITODODDODODDODODODOOOOO
000 200nsecO0 00 -155mV 00000 HITSUMOOOOOOOODOOOOOOOOOOO
900 nsec UOOOODOOOODOODOODOODOODOO
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00000000 HITODODOOOOOOOOOOOOO00O 200 QACOOOO 400 nsec
0000000000000 QACO0ODDDOODU000000NDO0DO0ODOODO00oooooon
00000000 TAC[15) 00000000 STARTOOODOOOOODOTACOODODOODO
0000000000000 TACOO STARTOOUOOOOOOOODOOO0OO0DO0DOO0O0O0OOO
gbooboobogoboobbuoobbooboooobuoobbooboboooboooboobo
0000000000 00000000o0o0g STOPOOO TACOOODOOOOOOOOOO
O0000000000000000000000000000 STARTOOOO STOPOOOO
goboobooooooooboooo

0000000000000 ATMOOODOODOOO QACO TACOODODODODOOODOOO
000000000000 000000000ADCOO0OO ADOOOOOOUOOOOOoooo
O00000000000ATM OO0 ADCOO0OOO0O b5usec0 000000000000
00000000000000000000 22usec000000ADCODOODODOOOODOOO
gbbooogbogobuoobbuoobbooboooobuoobboobooobooooboobn
000000 A100000000D00 ATMOODODOOOOOOOO0O 2000 QACO TAC
000 (0000 AQODO0OODOOBOOOOUOOOOOO)DOUODOOOOOOODOOOOOO
gboobooobogoboobboobooobooboboon

ooobooboboooboobobooboboobbooobooobooboboobbooboon
OO000000CHITOODODOOOOODOOOO 900nsec 000000000 OOOOOOO
gbooboobogoboobbuoobbooboooobuoooboboobboooboooboooboo
0000000000000 0DO00DO00D0O0D HITOODOODOOOD400 nsec ~ 900
nsec UOOO0ODOODODOOOOOOODODODOOOOOODODODODDOOOOOOODODDDDOOOOO
0000000000 ATMOOOOOO0O0O000000000000000000000000
gboogobogobooooboooboobobooboboobuoobboooboo

A2 ADDOOO

0000000 ATMOOOODODOOO0O QACOTACOOODO 120000 ADCO AD OO
O00000000ATM O 12000000000000 ADCOOOOOOOOOOOOOO
O0OO0OO0ADOOOO FIFOOODODOOOODODOOOOOOODODOOOOOOOO0OOOO0OO0O0OOO
gboooobogooboobboobboobooobooobbooboooboooboooboo
goooobogn

ADCOO0D0DO0D0O0ODDODOODOO0O0OONO b5usec00D00O00O0ODOODOOOODODODO
gooooboooboobboobbooboooboooboboobbooboooboobo
00000000 1kHzOOODOOOODOODODODOOOOOOOOODODOOOOOO 10MeV OO
00000000000000000 1000000000000000000000 1% 000
0000000000000 0000D ADCOOODO0D0OO0DDO0OD 12x1 [kHzl x1 % =100
[Hz) 000000000 0ADCOOOD0OOOOOOOOOODOOODOO0ODOO0ODOO0ODOOD
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PED_START
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000 A2 ATMOOOOOO

gbooooobogoog

O000ADCO ADODOOOOOO FIFRODODODODOODOOOO 100000000000
00000 A100000000000120000 QACO TACOOUOOODO 120000
00000000 4+1 0000000000000 00O0 sO0DOO0ODOOODOODOODOOO
000 1024000 (=2kByte )0 FIFOOODOOOOSMP OOOOOOODOOOOOOO
oono

000 A1 ATMO IHITOOOOOOOOOOIHITOOOOOOOOO 6Byte0 00O
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0 0000000 8bito AB| 0 | oDOoOOOOO

ol1]0]0 TAC O 000 12bit0

1/o0flo0]o QAC OO0 O12bitO

119



OO0B AMTOOOOOOODOOOOOO

Bl DO0OOOO

AMT 0000 CSR (Control and Status Registers) DO0O0O0 1200000000000
0000000000000 00000000000000oDoUoo00oooooogoCcSk
ooooobooobooboboobobooboooboooboobboooboooboooo

goobgoooo

000 B.10O0ODOO0OOOOOO0OO0OOO CSROODOOOOOoOoOoooOoooooOooOoOooo
0000000000000 00ATMO0000000000000000000

000 B.1 O0O0O0O0OOOOOOOOO

Register Address | OO
0 0x024
1 0x000 (mask_window)
2 0x744  (search_window)
3 0x708  (match_window)
4 0x880 (reject_count_offset)
5 0x000 (event_count_offset)
6 0x8bc  (bunch_count_offset)
7 0x000  (coarse_time_offset)
8 0xfff  (count_roll_over)
9 0x000
10 Oxad3
11 0x111
12 Ox1ff
13 Oxfff  (enable_channel[11:0])
14 0xfff  (enable_channel[23:12])
15 0x000 (general_out)

m CSRO : clkout_mode[1:0] = (0/1) CLKOUT D00D000O00OO0O0O0OO0OO0O0OO
0000000TDCO0O000000000000000 CLKOUTOOOO0O00000000

0000000000000000000000CLKOUT 0000 60 MHzO0OOOOOOMO

0000D0000000000 (0000 PLLO 200000 120MHzO0OOOO 1/20)0
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m CSRO : enabledirect =1 00000 0000000 OO0O0O0OOOO ENCCONTOODOO

googooogboooobooooo
O000000000000000000000BUNCHRSTBO EVENTRSTBO TRIGGER O

0000000000000 CSRO[11](globalreset) 0’1’ 000000 DOOODOOOOOOO

m CSR2 : search_window = 0x744 search_window 000000000
search_window = 0x744(1860) x 16.6 nsec = 31 usec

m CSR3 : match_window = 0x708 match-window 000000000
match_window = 0x708(1800) x 16.6 nsec = 30 usec

m CSR4 : reject_count_offset = 0x880 reject_count_offset DO O IO O OO0
coarse_time_offset — reject_count_offset
(0x000 — 0x880) x 16.6 nsec
= —0x780 x 16.6 nec
= —32 usec

0000000000 DO0Oreject counter O coarse counter 00 32 usec 00000000
00000000000 31lusec00000000000 LlBuffer000000000O0O00

m CSR6 : bunch_count_offset = 0x8bc bunch_count_offset OO0 0000000
coarse_time_offset — bunch_count_offset
= (0x000 — 0x8bc) x 16.6 nsec
= —0x744 x 16.6 nsec
= —31 usec
O00000D00O0O0O0OObunch counter O coarse counter D0 31 usec 00O OO0OO0O
000000000 match-window O 30 usec 0000000 L1 Buffer 0O0OO0OOOOO

m CSR10 : enable_traling = 1 trailingedge (00000 D0O0)0000000OOOOOO
goo

QIC 0 0000000000000 o0ODOD0O0O0OO0O0O0D0D0DO0D0D0D000000OOen-
able_leading[ enable_trailing 000 1 000000

m CSR10 : enable_trailer/enable_header = 1/1 000000 Trailer 0 Header 0000000
oboooooao

AMTOOOODOOODOOOOOOOO 4.204.304400000000 0 OSingle Measurement
DataODO00OO0O0O0O0O0O0OOOO0O0O0OOOOOOTrailer 0 Header 0000000000000
gbobooboobooboobooboboboboboboboboboboboboboboonoog

m CSR11 : enable_setcount_bcrst = 1 Bunch Count Reset O O O Coarse Counterd Bunch
Counterd Reject Counter 0000000000 OOOOOO0O
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m CSR11 : enable_lloverdetect =1 Ll Buffer OO0 D0O0O0OO0OO0OD0DO0O0OO0OOOOOODODOOO
ogog

m CSR11 : enableerrmark =1 000000000000 00000OO0OO0OO0OO0OOOOOO0OO
gobogo

m CSR11 : enable_rofull_reject = 0 Readout FIFO O0OO000000000000O0OOO0OO
gogooooooobon

43400000000Readout FIFOOOOODOUOOOUOOOOOOOOOODOOODOOOO
000000 oo0obOooooooooooDooooOoooDboooooooooooDoo oooo
ggooooon

B2 DO0OODOOOOO

B.2.1 CSR

CSR ODOOO0OOO CS (Chip Select)d WR (CSR Write)d DSPACE (Data Space select)O
RA[0:4] (Register Address)0 CDIO[0:11] 0 5 0000000000000 WROOODODO
0000000000000 0000ooo0ooooooonD CSROodooooooooooo
O00000O0DSPACEOOOODODOOOOOOOO CSROOODODOOOOOOODOODO

00000000 CSROOODOOODOOOOODOOOOOODO B1OOOOoOoOoOOoOOO
gbbogoboogoboobboobbuoobboon

oG
Time/Div 20 ns Delsy 36.000 ns O time 782.750 ns
= 1/(X-0) 1278 MHz
Signal T'Tl-'..[@.?....
~+&) rRA XX o X —
—HE coio1 XXX — —
[® Podt:Chi2CS | X E—
[§ Podrchiawr || & ]
[7 Podt:chi14 DsPACE N |

000 B.1 CSROOOOOOOOOO

1. FPGA O DSPACEOUO '’ OWR OOO 'H 000000000 OOOOOOOODO
00000 RAD 120000000 CDIOj0:11)0D0000OO

2.1000000 FPGADO CSOOO’'H’OOOO

3. TDCO ChlooooOooooooo

4.1000000 FPGADO CSOOO’L’O0oOoOCblIooOOOoOoOiOOOn 9nsec OO
CSOO000000 8nsec00D00ODODOOOODOOG0MHzOOODOO CSO 1000
gooooboogn
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000000000 CSROUODOODOOD0OOD0O0D0O0D0O0D0OO0O00D0O0N0N0N0N0NO0NO0NO0OoOn
00 B2000000000000 RAODODDODDOUDDOOOOTDC-FPGA[0:3]OODOODOO
CbloOoOonD 40000000

Time/Div 50 ns Delay -15.800 us
BUS/SiEﬂa| Tﬁgg“ ()9 Coro T ? N
4= TDC-FPGA[0:3] || = | 0 X o
B Pod2:Ch5CS 2
M Pod2::Ch6 WR B2
B Pod2:Ch7 DSPACE B

000 B2 CSROOOOOOOOOO

1. FPGA O DSPACEOOU '’OWR OUODO '’ 000000000000 OOOOOO
00000 RAODODOOOO

2.1000000 FPGAD CSOOO 'H’OOODO

. 18mnsec000 TDCO CDIOD 120000000000000O

4. FPGA O TDCOOOOOOOOOOOOCSO ’'L’OoooOo

w

B22 OOO0OOOOOOO

s 0000000000 OO0 TDCOOUOODOOOOOOODOODOOOOOOODOOODO
guobbodgooboooouobooobboobobuooobboobbuooobooobboon
oooooooooboboboobbboobobodddooooooooooooboboooooboooo
00000000000000 Synchronous mode 0000000000000 OO FPGA
O000000uU0O0 40MHzOOOOOOOTDCO 60 MHzOOOOOOOOOOFPGA O
000000000000O0O0O0OO0OO0ODODODOODOODOODOO TDCOOOOODOOO CLKOUT O
O0000000O00O0o0oO0 FPGAOO FIFOOOOOOOOODODODOOOOOOOO
ggd

ggooooooboboboboboobbooboood

DSPACE --- 00 'H’ 000
e CS..- 00 HDOOD

e GETDATA --- 00 'H’ 000
CLKOUT

DREADY

DIO[0:31]

OOOOGETDATAOOO FPGA OO FIFOOOODOOOODODOOOOOTDCOOOODO
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00000000000000000000000000000 GETDATAOOOOOOODOO
gboooobod

DREADY O OO TDCOOOOOOOOOOOOOOOOOOOOOOOOOOOODREADY
0O 'H 0000 CLKOUT OUOOoOooooUooooo FPGA OO FIFOOOOOOOOOO
CLKOUT O DREADYODIO DOOOODOOOOO B30OODOOCLKOUTOOOOOOO
0 DREADY OO0 1.1nsecODIODODO 20nsec JO0OO0OFPGA ODODOODOODOODDOODO
O0000000000000000000CLKOUTOO0000o0o0ooooooooooooo
gooooboogn

00000000 B40OOO0O DREADY 0O CLKOUT O NANDOOOOOOOGOoOoOoOoO
CLKOUTOOOOOODOO0O0OOO000ooooooooooooooooooooooooog
goooobogooboobboobbooboooboooboboobboooboooboooboo

DIO 0-31 > 21, QH—o

CLK

CLKOUT [ >——2 ;

DREADY [ >——3 DFF
000 B3 CLKOUT O .
00 DREADYODIO OO 000 B4 FPGA OOOOOO
ooad gooooobOoooooood

(000000 0O000000000oO0ooOooooooooon

TDCOOODO STARTOOUO 'HO0000DOCO0OO0OO0ODOOOOSTARTOODO '"H OO
00000 Global Reset O Bunch Count Reset 0 0000000000000 O0OOOOOOO
ggodooooboboboooobo

O00000000D0 ENCCONT OOUOUOUOUUooooocCSROoooooooooo
Global Reset 00O DO0OODO CSRO[11] 0 1000000000000 0O00DOOOOSTART
0000000’ 000000000000 0000000ooooooO STARTOOO
'HO0000000000CSRO[11]000 100000000000 DO0OOO0ODOOODOODOO
Global Reset 0000000000000 DOODOODODO CSRO[11]0 0000000 Global
Reset 00D 000000 0OO0OOOOOODOOO

0000000000000 00OCSRO[11]=00000 — DSPACEOCSOGETDATA O'H’
000 — 000 Bunch Count Resetd Event Count Reset 000000000000
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